Note: given the fact that you’re ‘obliged’ to answer the weekly questions, try to profit the most from the task:

- Start by reading the lecture notes (twice).

- Looking at them as little as possible, answer the questions.

The answers to Week 10’s questions should be handed to me at the beginning of Monday’s lecture of April 23rd (or, if you can’t, on the following lecture). They should be manuscript (not typewritten) and preferably based on schemes (as I do in the whiteboard). Keep a copy for yourself.

Please write WEEK  9 in bold at the beginning of your answers.

Week 9
L14: A decline in external demand in fixed rates – initial effects on domestic demand, the trade balance, the budget deficit and unemployment.

1.Why does AD determine aggregate income?

2. What’s the difference between domestic demand and aggregate demand?

3. The trade balance is necessarily equal to the difference between output and which variable? Explain, using a numerical example.
4.  The TB is equal to the sum of the public sector’s balance and the private sector’s balance.

a) Why?

b) Starting from equilibrium in those three balances, which is the effect of an exogenous decline in investment demand on each of them? Explain.

5. Explain the process that led to a decline in exports and an increase in imports in Argentina in 1999-01.

6. Explain the mechanisms through which a decline in external demand affects domestic demand, the trade balance, the budget deficit and unemployment. (long answer).
L15: A decline in external demand in fixed rates – the effects on the quantity of money, interest rates, etc.
In the following questions, consider the decline in external demand that moves the economy from point E0 to E1.

7.A trade deficit can be financed in three ways. Which ways?

8. If it is financed through past savings, what’s the effect of a trade deficit of 10$=10P on:

a) on the amount  of savings deposits in the economy? Explain.

b) on the amount of checkable deposits in the economy? Explain.

c) the amount of the CB’s dollar reserves? Explain.
d) the amount of the banking system’s reserves? Explain. Assume no circulation.
e) the interest rate, domestic demand and output assuming sterilization? Explain.

f) the interest rate, domestic demand and output assuming no sterilization? Explain. Explain also what must eventually happen to the trade deficit.

9. Compare the way a trade deficit is eliminated under Mundell’s income reserve flow mechanism and Hume’s price specie flow mechanism.
10. What’s the effect of a trade deficit of 10$=10P financed through foreign bank loans on:

a) the value of the CB’s dollar reserves? Explain.
b) the amount of the banking system’s reserves, the interest rate, domestic demand and output? Explain.

c) the value of foreign debt? Explain.

